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Find a) and b) evaluate both at t=0 ax lt+ S
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1. x=t“+3t y=t+1 ax? (2%;*3)3
Write the egn of the tangent line to the curve at the given point.
-3 =a(x-Yy
2. x=2t y=t% att=2 @5 ” )
3. x=t?2—t+2 y=t3-3t att=-1 @ld:z
Find all pts (if any) of HT and VT to the curve.
@ HT (l,D) vT:none
4, x=1-t y=t?
5. x =3cos§ y =3sinb @HT (0,2) (073) VT (2,0) (-210)
Find the arclength (use fnint) A
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6. x =arcsint y=Inv1l—t? OStS% @f (l-'L“)ZM '
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7. r=3(1-cosh) ax Swie ( &-1) %
Find the area of the given region: ]
z[ f (2 s 263 46
8. One leaf of r = 2c0s36
9. Innerloop of r =1+ 2cos@ O 2 [‘L g (1 t2¢e0 &) do|= 9:12-?3;\‘—3 ’,—j
= 91\'
10. Between the loops of r = 1 + 2cos6 3 . * o Zouk" looP/
Find the intersection points of O 2 [ g C “'2 30) O\B] (/ — _

11.r=14+cos8 and r=1-cosf

H ®(\)“72.:) (\)%“15<0)D.)
Find the arclength
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12.r=1+sind 0<6<2m @af\lcwsmmﬁmﬁaﬂ

Wa
Find the a) position at time t=3, b) distance the particle travels t € [0,3] u..a.L-Pnf

13. v(t) =< 3t2 — 2t,1 4 cosmt > s(0)=(2,6) @ o) <2.0,q>
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